ERURAKBIRITRB AR

Metallized polypropylene film capacitor for lamps

M 5MEE Outline Drawing

|
|

_— |

= 3 s (88)s

B s

IZRFRALT. SEKRLT . AT, €BRRITE
LUSHZR J3 50Hz/60Hz A 327 FEIR L BB RO BRRAAT B o
MEESS. BFERBNNEERIME, FLTEMN
IhEREH cosp=0.9.

B Z£7\if Safety Approvals

H1 H Mounting bolt

B Features

The capacitors are designed for lighting applications such as
fluorescent lamps, high-pressure mercury vapor lamps, sodium
lamps, and metal halide lamps. The capacitors are used for power
factor compensation of transformers and magnetic ballasts in
lamps with a frequency of 50 or 60Hz, which makes the power
factor to achieve cos$=>0.9.

® cQcC GB/T 18489-2008, type A, 2.01F~50.0pF, 250Vac, 50Hz/60Hz, -40°C/85°C
(R ED JE4 -2 (Certificate No.): CQC04000009201

PY Q Rh eTlmgn d EN 61048:2016, type A, 2.04F~50.0pF, 250Vac, 50Hz/60Hz, -40°C/85°C
(EE) JE#$ S (Certificate No.): R 50160499

B HEARER Specifications

5| A#r# Reference Standard

GB/T 18489-2008(IEC 61048:2006)
GB/T 18504-2001 (IEC 61049:1991)

FZEHRE Rated Voltage (Un) 250Vac
FESAZE Rated Frequency (fn) 50Hz/60Hz
X E5EE Capacitance Range (Cn) 2.0pF ~ 50.0pF

HXRE{RE Capacitance Tolerance

£5%(J), £10%(K)

MER=nE (BEHFRELE, t)
Rated Max. Temperature (on capacitor surface, tc)

85°C

&35 Climatic Category

40/85/10

AR Type

Type A (self-healing parallel capacitor)

ShEHEE Case

Plastic or Aluminum

#t# Condensation

Not permitted

MR E (5|2 [E]) Test Voltage Between Terminals 500Vac, 2s
TR JE ($RFE 2 [E]) Test Voltage Between Terminals to Case 2 000Vac, 2s (max. leakage current: 0.5mA)
&= L{EEE Max. OperatingVoltage 275Vac

FEHBR Rated Current (In)

0.0785Cn(A) @ 50Hz
0.0942Cn(A) @ 60Hz (Unit of Cn: uF)

= AL{EEAR Max. Operating Current 1.3In
SNERAIFES Degree of protection IPOO
== EFAER Max Altitude 2000m

195




<>

EinF Terminals

Push in connector or insulated wires

#E3#% Connecting Wires

Insulated rigid leads 0.5mm?>~1.0mm?’, approx. stripped 6mm ~7mm

ZrdE

ik

3|Himfizxk Terminal form

HARIRTF Insert terminal

sk R4%3 Insulate lead wire

Installation

LEFR Fixed style

JKERiZE M8 Bottom-bolt M8

th#BFE Ring-clip in the middle of case

AR EHSE Max tightening torque

3N‘m

B R4S Part number system

15 (A= @mARBUT :

The 15 digits part number is formed as follow:

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

lclef2a] | |

F1~3 BIE(RED

C62=CBB60L

% 4~5 'ﬁ‘z ﬁijlhgﬁ}i EE.JIT:
E2=250V

Fo8f IFMAE

245 : 505=50 X 10°pF=5.0F

394 RERE
J=%5%, K=+

£ 10~15 il HIFR4S(ERD

196

10%

Digit1to 3 Series code
C62=CBB60L
Digit4to 5 AC rated voltage
E2=250V
Digit6to 8 Rated capacitance value
for example: 505=50 X 10°pF=5.0pF
Digit 9 Capacitance tolerance
J=15%, K=1£10%

Digit 10to 15 Internal use




B $MERSH Dimensions(mm)

250Vac 250Vac (Miniature Version)
Ch [ D | D1 [ H | H1 |Mounting| Disc!1arge part number Ch [ D [ D1 | H | H1 |Mounting Discharge Part number
(MF) | £2.0{*2.0|*3.0(*1.0| bolt resistor (uF) [£2.0|£2.0|%=3.0|*1.0( bolt resistor
20 | 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2205-****** 20| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2205-******
25| 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2255-****** 25| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2255-*****+
3.0 | 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2305-****** 30| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2305-******
35| 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2355-****** 35| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2355-*****+
40 | 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2405-****** 40| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2405-******
45 | 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2455-*****+ 45| 25 | 25 | 53 | 12 | M8xX10 | 0.5W,1.2MQ | C62E2455-*****+
50 | 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2505-****** 50| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2505-******
55| 30 [ 29 | 58 | 12 [ M8x10 | 0.5W,1.2MQ | C62E2555-****** 55| 25 | 25 | 53 | 12 | M8x10 | 0.5W,1.2MQ | C62E2555-*****+
6.0 | 30 | 29 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2605-****** 6.0 | 25 | 25 [ 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2605-******
6.3 30 29 58 12 M8x10 | 0.5W,1.2MQ C62E2635-****** 6.3 | 25 25 58 12 M8x10 | 0.5W,1.2MQ C62E2635-******
65| 30 | 20 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2655-****** 65| 25 | 25 [ 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2655-******
70 | 30 | 29 | 58 | 12 [ M8x10 | 0.5W,1.2MQ | C62E2705-****** 70| 25 | 25 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2705-******
75 | 30 | 29 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2755-****** 75| 30 | 27 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2755-******
8.0 30 29 68 12 M8x10 | 0.5W,1.2MQ C62E2805-****** 8.0 | 30 27 58 12 M8x10 | 0.5W,1.2MQ C62E2805-******
84 | 30 | 29 | 68 | 12 | M8x10 | 0.5W,1.2MQ | C62E2845-****** 84| 30 | 27 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2845-******
8.5 30 29 68 12 M8x10 | 0.5W,1.2MQ C62E2855-****** 8.5 | 30 27 58 12 M8x10 | 0.5W,1.2MQ C62E2855-******
9.0 | 30 | 29 | 68 | 12 | M8x10 | 0.5W,1.2MQ | C62E2905-****** 9.0 | 30 | 29 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2905-******
9.5 30 29 68 12 M8x10 | 0.5W,1.2MQ C62E2955-****** 9.5 ]| 30 29 58 12 M8x10 | 0.5W,1.2MQ C62E2955-******
10 | 30 | 29 [ 68 [ 12 | M8x10 | 0.5W,1.2MQ | C62E2106-****** 10 | 30 | 29 | 58 | 12 | M8x10 | 0.5W,1.2MQ | C62E2106-******
12 | 30 | 29 | 73 | 12 | M8x10 | 0.5W,1.2MQ | C62E2126-****** 12 | 30 | 29 | 68 | 12 [ M8x10 | 0.5W,1.2MQ | C62E2126-******
125( 30 [ 29 | 98 | 12 | M8x10 | 0.5W,1.2MQ | c62E212E-****** | |12.5( 30 | 29 | 68 | 12 | M8x10 | 0.5W,1.2MQ | C62E212E-******
13 | 30 | 29 | 98 | 12 | M8x10 | 0.5W,1.2MQ | C62E2136-****** 13 | 30 | 29 | 68 [ 12 [ M8x10 | 0.5W,1.2MQ | C62E2136-******
14 | 30 | 29 [ 98 [ 12 | M8x10 | 0.5W,1.2MQ | C62E2146-****** 14 | 30 | 29 | 68 | 12 | M8x10 | 0.5W,1.2MQ | C62E2146-******
15 | 30 [ 29 | 98 | 12 | M8x10 | 0.5W,1.2MQ | C62E2156-****** 15 | 30 | 29 | 73 [ 12 | M8x10 | 0.5W,1.2MQ | C62E2156-******
16 | 30 | 29 [ 98 [ 12 | M8x10 | 0.5W,1.2MQ | C62E2166-****** 16 | 30 | 29 | 73 | 12 | M8x10 | 0.5W,1.2MQ | C62E2166-******
18 | 30 | 29 | 98 | 12 | M8x10 | 0.5W,1.2MQ | C62E2186-****** 18 | 35 | 33 | 73 [ 12 | M8x10 | 0.5W,1.2MQ | C62E2186-******
20 | 35 | 34 | 95 | 12 | M8x10 | 0.5W,1.2MQ | C62E2206-****** 20 [ 35 | 33 [ 73 | 12 | M8x10 | 0.5W,1.2MQ | C62E2206-******
22 | 35 [ 34 | 95 | 12 [ M8x10 | 0.5W,1.2MQ | C62E2226-****** 22 | 30 | 29 | 98 | 12 | M8x10 | 0.5W,1.2MQ | C62E2226-******
25 | 35 [ 34 | 95 | 12 | M8x10 |0.5W,0.75MQ [ C62E2256-****** 25 [ 30 | 29 [ 98 | 12 | M8x10 | 0.5W,0.75MQ | C62E2256-******
28 40 38 95 12 M8 x 10 | 0.5W,0.75MQ | C62E2286-****** 28 35 33 95 12 M8x10 | 0.5W,0.75MQ C62E2286-******
30 | 40 | 38 | 95 | 12 | M8x10 |0.5W,0.75MQ | C62E2306-****** 30 | 35 | 33 | 95 | 12 | M8x10 [0.5W,0.75MQ | C62E2306-******
32 40 38 95 12 M8 x 10 | 0.5W,0.75MQ | C62E2326-****** 32 35 33 95 12 M8x10 | 0.5W,0.75MQ C62E2326-******
35 | 40 | 38 | 95 | 12 | M8x10 |0.5W,0.75MQ [ C62E2356-****** 35 | 35 | 34 | 95 | 12 | M8x10 [0.5W,0.75MQ | C62E2356-******
36 45 44 66 12 M8x 10 | 0.5W,0.75MQ | C62E2366-****** 36 45 44 66 12 M8x10 | 0.5W,0.75MQ C62E2366-******
40 | 45 | 44 | 95 | 12 | M8x10 |0.5W,0.75MQ | C62E2406-****** 40 | 40 | 39 | 95 | 12 | M8x10 [O0.5W,0.47MQ | C62E2406-******
45 | 45 | 45 | 100 | 16 | M8x12 [0.5W,0.75MQ | C62E2456-****** 45 | 40 | 39 | 95 | 16 | M8x12 [ 0.5W,0.47MQ | C62E2456-******
50 | 45 | 45 | 125 | 16 | M8x12 |0.5W,0.75MQ | 162E2506-****** 50 | 45 | 45 | 95 | 16 | M8x12 [0.5W,0.47MQ | C62E2506-******
%i* Note: 1. “-” RRBERE.  ““” =capacitance tolerance code, J=15%, K=+10%.
2, RRRRRRY R RAERAFIERD “rxkxx*? = Internal use.
JHERE., RIYRVTHAFAEERME,. Other values and dimensions are available on request.

197




